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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 000 ~ 477 59.50 | =S | 000 ~ 0.00| 1.71 917 Thlst 1.00 | 6.00 ~ 5.00 59.50 | =hH | 5.00 ~ 6.00| 1.71 917
2 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 731 9316 | #nS | 000 ~ 7.31| 238 12.73 Thst 1.00 | 6.00 ~ 10.00 93.16 | =hs | 5.00 ~ 1000 2.38 12.73
3 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 0.00 ~ 752 96.09 | #nS | 000 ~ 7.62| 2.36 12.64 st 1.00 | 6.00 ~ 1040 96.09 | =h4 | 5,00 ~ 1040]| 2.36 12.64
4 100kN/m%E#8z5| 1.00 | 000 ~ 072 110.71 |3m&E#BZB| — ~ — — — | 100kN/m%#25 | 1.00 | 1057 ~ 1270 110.71 |3m%E#BZS -~ — — —
ZhLst 1.00 | 072 ~ 850 100.00 | #hst | 000 ~ 850 | 214 11.47 ZhLst 1.00 | 6.00 ~ 1057 100.00 | #hst | 5,00 ~ 1270| 2.14 11.47
5 100kN/m%E#8z5| 1.00 | 000 ~ 125| 11891 |3m&E#BzZB| — ~ — — — | 100kN/mM%E#Bx5 | 1.00 | 11.18 ~ 1521 11891 |3m%Ei#BZ5 -~ — — —
s 1.00 | 1.25 ~ 9.04 100.00 | Fnlst | 0.00 ~ 9.04 | 2.58 13.81 Thst 1.00 | 6.00 ~ 1118 100.00 | =hLst | 6.00 ~ 1521| 2.68 13.81
p 100kN/m%E#8z5| 1.00 | 000 ~ 168 12570 |3m&E#BZB| — ~ — — — | 100kN/ Mm% 25 | 1.00 | 1065 ~ 1631 125.70 |3mZEHEZS - ~ — — —
s 1.00 | 1.68 ~ 946 100.00 | =nLst | 0.00 ~ 9.46 | 2.46 13.14 st 1.00 | 6.00 ~ 1063 100.00 | =nLSY | 6.00 ~ 1631)| 2.46 13.14
7 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
Thilst 1.00 | 000 ~ 768 9849 | =S | 000 ~ 7.68| 2.29 12.24 ThLst 1.00 | 5.00 ~ 1046 9849 | =hst | 5,00 ~ 1046 2.29 12.24
P 100kN/mMZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 6.67 70.82 | ThSY 000 ~ 000| 1.71 915 Thist 1.00 | 6.00 ~ 6.30 70.82 | #nLS | 6.00 ~ 630 1.71 915
9 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 346 43.80 | =hst | 0oo ~ 346 | 221 11.85 ZhLst 1.00 | 6.00 ~ 56.00 43.80 | #hs | 5.00 ~ 6.00 | 2.21 11.85
100kN/ M%#2Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
zhsn ~ ZznLst ~ znLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ TnLst ~ Zzhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/M%#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




